

## Note

## A converse of Minkowski's inequality

Horst Alzer<sup>a</sup>, Stephan Ruscheweyh<sup>b, \*</sup><sup>a</sup>Morsbacher Str. 10, D-51545 Waldbröl, Germany<sup>b</sup>Department of Mathematics, University of Würzburg, Am Hubland, D-97074 Würzburg, Germany

Received 19 January 1999; revised 3 August 1999; accepted 9 August 1999

---

**Abstract**

The following converse of the classical Minkowski inequality was proved by H. Tôyama in 1948.

Let  $r, s$  be real numbers with  $0 < r < s$ . Then we have for all real numbers  $A_{ij} \geq 0$  ( $i = 1, \dots, m; j = 1, \dots, n$ ), which are not all equal to 0:

$$\frac{[\sum_{j=1}^n (\sum_{i=1}^m A_{ij}^s)^{r/s}]^{1/r}}{[\sum_{i=1}^m (\sum_{j=1}^n A_{ij}^r)^{s/r}]^{1/s}} \leq (\min(m, n))^{1/r-1/s}. \quad (*)$$

The bound is sharp.

In this note we give a short and simple proof for a weighted version of (\*). © 2000 Elsevier Science B.V. All rights reserved.

*Keywords:* Minkowski's inequality; Tôyama's inequality; Converse inequality

---

## The classical inequality

$$\left( \sum_{i=1}^m (a_i + b_i)^s \right)^{1/s} \leq \left( \sum_{i=1}^m a_i^s \right)^{1/s} + \left( \sum_{i=1}^m b_i^s \right)^{1/s}, \quad (1)$$

which holds for all real numbers  $s > 1$ ,  $a_i \geq 0$ , and  $b_i \geq 0$  ( $i = 1, \dots, m$ ), was published by Minkowski [3, pp. 115–117] in his famous book 'Geometrie der Zahlen'. A proof of Eq. (1) as well as several extensions, related results, and interesting geometrical interpretations can be found in [1, pp. 147–159; 2, pp. 30–39].

---

\* Corresponding author.

E-mail addresses: alzer@wmax03.mathematik.uni-wuerzburg.de (H. Alzer), ruscheweyh@mathematik.uni-wuerzburg.de (S. Ruscheweyh)

The following extension of Minkowski’s inequality is due to A.E. Ingham and B. Jessen:

Let  $r, s$  be real numbers with  $0 < r < s$ , and let  $u_i$  ( $i = 1, \dots, m$ ),  $v_j$  ( $j = 1, \dots, n$ ) be positive real numbers. Then we have for all real numbers  $a_{ij} \geq 0$  ( $i = 1, \dots, m; j = 1, \dots, n$ ), which are not all equal to 0:

$$1 \leq \frac{[\sum_{j=1}^n v_j (\sum_{i=1}^m u_i a_{ij}^{r/s})^{1/r}]^{1/r}}{[\sum_{i=1}^m u_i (\sum_{j=1}^n v_j a_{ij}^{s/r})^{1/s}]^{1/s}}. \tag{2}$$

An elegant proof of (2), which is based on Hölder’s inequality, is given in [2, pp. 31–32]. A simple calculation reveals that (2) with  $n = 2, r = 1, u_i = 1$  ( $i = 1, \dots, m$ ) and  $v_1 = v_2 = 1$  leads to (1). If we set  $a_{ij} = 1$  ( $i = 1, \dots, m; j = 1, \dots, n$ ), then equality holds in (2). This implies that the constant 1 is the best possible lower bound.

We note that the weights  $u_i$  and  $v_j$  can be eliminated by a simple transformation. Indeed, if we define

$$A_{ij} = u_i^{1/s} v_j^{1/r} a_{ij} \quad (i = 1, \dots, m; j = 1, \dots, n), \tag{3}$$

then inequality (2) is equivalent to the special case

$$1 \leq \frac{[\sum_{j=1}^n (\sum_{i=1}^m A_{ij}^{r/s})^{1/r}]^{1/r}}{[\sum_{i=1}^m (\sum_{j=1}^n A_{ij}^{s/r})^{1/s}]^{1/s}}. \tag{4}$$

In 1948, Tôyama [4] published the following remarkable converse of (4):

$$\frac{[\sum_{j=1}^n (\sum_{i=1}^m A_{ij}^{r/s})^{1/r}]^{1/r}}{[\sum_{i=1}^m (\sum_{j=1}^n A_{ij}^{s/r})^{1/s}]^{1/s}} \leq (\min(m, n))^{1/r-1/s}. \tag{5}$$

Inequality (5) is valid for all positive real numbers  $r$  and  $s$  with  $r < s$  and for all real numbers  $A_{ij} \geq 0$  ( $i = 1, \dots, m; j = 1, \dots, n$ ), which are not all equal to 0. Equality holds in (5) if  $A_{ii} = 1$  ( $i = 1, \dots, \min(m, n)$ ) and all other  $A_{ij}$  are equal to 0.

Tôyama used analytical and combinatorial ideas in his quite complicated proof of inequality (5). It is the only one we could locate in the literature. In this note we present a short and simple proof for a weighted version, which is only based on the following well-known monotonicity properties of power means and power sums: if  $0 < r < s$  and  $x_i \geq 0$  ( $i = 1, \dots, N$ ), then

$$\left(\frac{1}{N} \sum_{i=1}^N x_i^r\right)^{1/r} \leq \left(\frac{1}{N} \sum_{i=1}^N x_i^s\right)^{1/s} \tag{6}$$

and

$$\left(\sum_{i=1}^N x_i^s\right)^{1/s} \leq \left(\sum_{i=1}^N x_i^r\right)^{1/r}. \tag{7}$$

Elementary short proofs for (6) and (7) are given in [1, p. 143, pp. 159–167; 2, pp. 26–30].

A combination of (2) and a weighted version of (5) can be presented in a symmetrical form as follows.

**Theorem 1.** *Let  $r, s$  and  $u_i$  ( $i = 1, \dots, m$ ),  $v_j$  ( $j = 1, \dots, n$ ) be positive real numbers. Then we have for all real numbers  $a_{ij} \geq 0$  ( $i = 1, \dots, m; j = 1, \dots, n$ ), which are not all equal to 0:*

$$\min(1, k^{1/r-1/s}) \leq \frac{[\sum_{j=1}^n v_j (\sum_{i=1}^m u_i a_{ij}^s)^{r/s}]^{1/r}}{[\sum_{i=1}^m u_i (\sum_{j=1}^n v_j a_{ij}^r)^{s/r}]^{1/s}} \leq \max(1, k^{1/r-1/s}), \tag{8}$$

where  $k = \min(m, n)$ . Both bounds are sharp.

**Proof.** In view of (2) it suffices to establish the right-hand side of (8) for  $0 < r < s$ . We assume that  $m \leq n$ ; the proof for  $m > n$  is similar. We denote the ratio in (8) by  $R$ . Using transformation (3) we obtain

$$R = \frac{[\sum_{j=1}^n (\sum_{i=1}^m A_{ij}^s)^{r/s}]^{1/r}}{[\sum_{i=1}^m (\sum_{j=1}^n A_{ij}^r)^{s/r}]^{1/s}}.$$

Let

$$x_j = \left( \sum_{i=1}^m A_{ij}^s \right)^{1/s} \quad (j = 1, \dots, n)$$

and

$$y_i = \left( \sum_{j=1}^n A_{ij}^r \right)^{1/r} \quad (i = 1, \dots, m).$$

From (7) we get

$$x_j^r \leq \sum_{i=1}^m A_{ij}^r \quad (j = 1, \dots, n), \tag{9}$$

so that (9) and (6) imply

$$\begin{aligned} \left( \sum_{j=1}^n x_j^r \right)^{1/r} &\leq \left( \sum_{j=1}^n \sum_{i=1}^m A_{ij}^r \right)^{1/r} = \left( \frac{1}{m} \sum_{i=1}^m y_i^r \right)^{1/r} m^{1/r} \\ &\leq \left( \frac{1}{m} \sum_{i=1}^m y_i^s \right)^{1/s} m^{1/r} \\ &= \left( \sum_{i=1}^m y_i^s \right)^{1/s} m^{1/r-1/s}. \end{aligned}$$

This leads to

$$R = \frac{(\sum_{j=1}^n x_j^r)^{1/r}}{(\sum_{i=1}^m y_i^s)^{1/s}} \leq (\min(m, n))^{1/r-1/s},$$

which we had to show. If we set

$$a_{ii} = u_i^{-1/s} v_i^{-1/r} \quad (i = 1, \dots, \min(m, n))$$

and all other  $a_{ij}$  equal to 0, then equality holds on the right-hand side of (8).

## References

- [1] P.S. Bullen, D.S. Mitrinović, P.M. Vasić, *Means and Their Inequalities*, Reidel, Dordrecht, 1988.
- [2] G.H. Hardy, J.E. Littlewood, G. Pólya, *Inequalities*, Cambridge Univ. Press, Cambridge, 1952.
- [3] H. Minkowski, *Geometrie der Zahlen*, Teubner, Leipzig, 1910.
- [4] H. Tōyama, On the inequality of Ingham and Jessen, *Proc. Japan Acad.* 24 (9) (1948) 10–12.